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V ���� 

 
1 �� .  (1) �������� �� 	�
�
� a: 
34,15 – 4,15.[18,9 – 3.(7,8:0,3 – 25,3) – 9,8]= 
=34,15 – 4,15.[18,9 – 3.(26 – 25,3) – 9,8]= 
=34,15 – 4,15.[18,9 – 3.0,7 – 9,8]= 
=34,15 – 4,15.[18,9 – 2,1 – 9,8]= 
=34,15 – 4,15.[16,8 – 9,8]= 
=34,15 – 4,15.7= 
=34,15 – 29,05= 
=5,1   a = 5,1 �!      3 ����� 
(2) �������� �� 	�
�
� b: 
5,1:(� – 5,97) + 1,25 = 68,5.2,5 
5,1:(x – 5,97) + 1,25 = 171,25 
5,1:(x – 5,97) = 171,25 – 1,25 
5,1:(x – 5,97) = 170 
x – 5,97 = 5,1:170 
x – 5,97 = 0,03 
x = 0,03 + 5,97 
x = 6   b = 6 �!     3 ����� 
(3) �������� �� ��
�
� �� 
��������	�: 
S = (a.b):2 
S = (5,1.6):2 
S = 30,6:2 
S = 15,3 ��.�!.       1 ����� 
2 �� .  
�) S = V�� 
��..t 
375 = V�� 
��..7,5 
V�� 
��  =  375:7,5 
V"# $%&  = 50 �!/&        1 �����      
S = V�/� 
��..t 
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375 = V�/� 
�� .12,5 
V�/� 
�� = 375:12,5 
V�/' $%& = 30 �!/&  1 ����� 
V
��. = (V�� 
�� – V�/� 
�� ):2 
V
��. = (50 – 30):2 
V
��. = 20:2 
V$%&. = 10 �!/&  1 ����� 
V��.�. = V�� 
��  – V
��. ( V��.�. = V�/� 
��. + V
��. ) 
V��.�. = 50 – 10   (V��.�. = 30 + 10 ) 
V�".�. = 40 �!/&  (V�".�. = 40 �!/&)   1 ����� 
 
�) S = V 
��..t 
182 = 10.t 
t = 182:10 
t = 18,2 &.        1 ����� 
=> � 23,20 &.       1 ����� 
� 23&. 12!().       1 ����� 
 
3 �� . 
I �����: 
����� ��
�	�: 

S = (a.ha):2 
S1= (25.40):2 
S1= 500 ��.�!       0,5 �����     
S2= (25.60):2 
S2= 750 ��.�!       0,5 ����� 
S1 + S2 = 1250 ��.�!      0,25 ����� 
S = a.b 
S3= 25.100 
S3= 2500 ��.�!       0,5 ����� 
S����.= 2.(S1 + S2) + S3 
S����.= 2.1250 + 2500 
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S%!*�.= 5000 ��.�!      0,5 �����    
S%!*�.= 0,5 ��.!       0,5 ����� 
0,5 	�.� .340 ��. + 90��.= 260 ��.    0,5 ����� 
�	��� ��
�	�: 

S = (a.ha):2 
S1= (35.30):2 
S1= 525 ��.�!       0,5 ����� 
S2= (35.70):2 
S2= 1225 ��.�!       0,5 ����� 
S1 + S2 = 1750 ��.�!      0,25 �����     
S = a.b 
S3= 35.100 
S3= 3500 ��.�!       0,5 �����  
S����.= 2.(S1 + S2) + S3 
S����.= 2.1750 + 3500 
S%!*�.= 7000 ��.�!      0,5 ����� 
S%!*�.= 0,7 ��.!       0,5 ����� 
0,7 	�.� .360��.= 252 ��.      0,5 ����� 
260 �� > 252 ��. �$#+�$� #,%+$� � �� ��������
���. 0,5 ����� 
 
II �����: 
����� ��
�	�: 

S = a.b 
S1= 55.100 
S1= 5500 ��.�!       0,25 �����   
S = (a.b):2 
S2= (55.40):2 
S2= 1100 ��.�!       0,25 ����� 
S = (a.b):2 
S3= (55.60):2 
S3= 1650 ��.�!       0,25 ����� 
S = (a.ha):2 

�
���

0,5 0,5 ���������

  0,5 0,5 ��
 0,25 0

   

    
    

2 ���..       
#+�$�+�$� #,%+$�#,%+
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S4= (100.30):2 
S4= 1500 ��.�!       0,25 ����� 
S*= S1 – (S2 + S3 + S4) 
S*= 5500 – (1100 + 1650 +1500) 
S*= 1250 ��.�!       0,5 ����� 
S = a.b 
S5= 25.100 
S5= 2500 ��.�!       0,25 ����� 
S����.= 2. S*+ S5 
S����.= 2.1250 + 2500 
S%!*�.= 5000 ��.�!      0,5 �����    
S%!*�.= 0,5 ��.!       0,5 ����� 
0,5 	�.� .340 ��.+90��.= 260 ��.    0,5 ����� 
�	��� ��
�	�: 

S = a.b 
S1= 55.100 
S1= 5500 ��.�!       0,25 �����   
S = (a.b):2 
S2= (55.30):2 
S2= 825 ��.�!       0,25 ����� 
S = (a.b):2 
S3= (55.70):2 
S3= 1925 ��.�!       0,25 ����� 
S = (a.ha):2 
S4= (100.20):2 
S4= 1000 ��.�!       0,25 ����� 
S*= S1 – (S2 + S3 + S4) 
S*= 5500 – (825 + 1925 +1000) 
S*= 1750 ��.�!       0,5 ����� 
S = a.b 
S5= 35.100 
S5= 3500 ��.�!       0,25 ����� 
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S����.= 2. S*+ S5 
S����.= 2.1750 + 3500 
S%!*�.= 7000 ��.�!      0,5 �����    
S%!*�.= 0,7 ��.!       0,5 ����� 
0,7 	�.� .360��.= 252 ��.      0,5 ����� 
260 �� > 252 ��. �$#+�$� #,%+$� � �� ��������
���. 0,5 ����� 
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( ) ( )

2012 50
107

2012 5 : 9
= + − =

− −
������ !��"��!��"�� !��#� 52,5 : 5 20 : 2

10

b
− + = − ������ !��#�

5
1 50 : 107

9
= + − = ������� !��#� 52,5 : 5 10

10

b
− + = − ������ !��#�

9
1 50. 107

5
= + − = ������� !��#� 52,5 : 10 5

10

b
− = − − ������� !��#�

1 90 107 16= + − = − ������!��#� 52,5 : 15
10

b
− = − ������� !��#�

� ( )52,5 : 15
10

b
= − − ������ !��#�

� 3,5
10

b
= ������� !��#�

� 3,5.10b = ��������� !��#�
� 35b = ������� !��#�
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